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In terms of their height, hydroelectric dams generally pose a greater threat to upstream 
migration than dams built for other purposes.  Hydroelectric facilities, for which there is 
height data within the Provincial Dams Inventory, range from 1.2 m to 63 m high, and 
average 9.9 m high (Figure 9).  The 721 non-hydroelectric dams, for which we have 
height data, average 3.64 m in height, ranging from 0.40 to 40 m high (Figure 10).  
Based on the available data the majority (84%) of hydroelectric dams for which we had 
height data exceed the three metre height criterion identified by Tremblay et al. (2011) 
for impassability, while 50 percent of the non-hydroelectric dams are above the three 
meter criterion. 
 

 
 
Figure 9.  Height distribution of hydroelectric dams within the Ontario historical range of 
eels (average, minimum and maximum heights in meters).  
 
Dams that block upstream passage due to their height threaten access to all habitats 
upstream of their location.  Consequently dams located in the lowest river reaches 
within a watershed, especially those on the mainstem access routes have the greatest 
impact.  The Ottawa and St. Lawrence River watersheds are the two primary routes of 
penetration into Ontario’s aquatic habitats and upstream migration on the mainstems of 
both waterways has been seriously compromised by hydroelectric facilities.  On the 
Ottawa River, downstream of the water control structure at the outlet of Lake 
Temiskaming (located some 580 km upstream of the confluence of the Ottawa River 
with the St. Lawrence River), six hydroelectric facilities span the mainstem of this 
migratory corridor.  Below the Lake Temiskaming water control structure, there are no 
non-hydroelectric dams that span the mainstem of the Ottawa River.  Similarly, the two 
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